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o P AT B T [ 3T ToT-Y7 7 GRT §T 24 T F97 38(22+8+8) &

Please make sure that the printed pages in this question paper are 24 in number
and it contains 38(22+8+8) questions.

o Jo7-7H ¥ e & @ G RF T8 FS THT T 6 H OH FI-Ykaw F FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV [TGT Y& V7§ Yeer, 9T B B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT FF o de Tel R o SEvIRagar & @ st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1209/(Set : B) P.T.O.



(2) 1209/(Set : B)

o TR T AT To JeT-UH G Haed [@ T To & SARFT FIT-YH YU o 8 A T
g siie defcy® 7ot & IR T Fbd ST F 9T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % FUT 37 @ {4 & GElEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
G § 25 4 @ &@hwre Tl A i
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

A 3T -
(i) T8 Fo7-97 T 9 7 e & -

G - 3 : @EERT B G FUT B T aGET
G - § : [FhT [[aee a7 fsavn

9T - T : FYNHT AGIHT

(ii) ZI_;- & A &1 qhEre o s @ 1T - § 7 9T - @ F @ #E 0F 4T &T
/

(iii) TH 797 &T VT &

(iv) 797 & 1 & 10 T 23 G 27 7% TGS J97 &1 JA% J97 1 9% %7 &1

(v) 597 Gear 11 & 15 797 28 Gffday Iad 597 &1 J9% J97 2 6/% & &

(vi) 97 & 16 @ 20 T 29 TF FG0T Fo7 81 JAF o7 3 3% F &

(vii) F97 T&r 21, 22 797 30 §F FFTNT F97 &1 F9F F9T 5 9F F 8

(viii) 38 F971 7 SARE [wcy 39T 81 Od Fo7 § @ SYHE HIT T & F97 B 8

General Instructions :
(i) This question paper is divided into three Parts :

Part - A : Accounting for Partnership Firms & Companies.
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(3) 1209/(Set : B)
Part - B : Analysis of Financial Statements.
Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted.

(iv) Question Nos. 1 to 10 and 23 to 27 are objective type questions. Each
question carries 1 mark.

(v) Question Nos. 11 to 15 and 28 are very short answer type questions. Each
question carries 2 marks.

(Vi) Question Nos. 16 to 20 and 29 are short answer type questions. Each
question carries 3 marks.

(vii) Question Nos. 21, 22 and 30 are long answer type questions. Each question
carries 5 marks.

(viii) An internal choice is available in some questions. You have to attempt only
one of the given choice in such questions.

T - A
PART - A [M. M. :45
(TSR BHE SR HuE $ RiT i)
(Accounting for Partnership Firms & Companies)
1. 9EER & IR 69 W S & A -6 @ 7 Hise H i 5 7 1

(A) af wEER & O an |

(B) STIHIT T HA A THER & Yol @I A
(C) v TEE & T @ §

(D) @R & @ H
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(4) 1209/(Set : B)
To which account is the amount of goodwill credited in case of the retirement of
a partner ?
(A) In the capital account of all the partners
(B) In the capital account of the retiring partner
(C) In the capital account of remaining partners

(D) In the account of the government

2. FEREM 1 & GHUT BN WX 999 ofd § $HIF-91 @rar - Sl 8 7 1
(A) agail & (B) WEERT $ T @l
(O EEREIN (D) WERER! & o @

In case of dissolution of a partnership firm, which of the following Account is
created at last ?

(A) Realisation Account (B) Partners' Loan Account

(C) Cash Account (D) Partners' Capital Account

3. T% HEER 3 BH & 2 2,00,000 H KT &GN A@E 9049 & 9@ § RO X AT &N ¢

1
(A) ¥12,000 (B) 1,200

(C) ¥6,000 (D) ¥24,000

A partner gave a loan of ¥ 2,00,000 to the firm. In the absence of partnership
deed, the amount of interest on loan will be :

(A) % 12,000 (B) % 1,200
(C) %6,000 (D) % 24,000

4. 59 ¥ ¥ H9-T@ 95 d9-ai Maee g § 787 o o ? 1
(A) UERER #H a9 (B) &Y W AN

(C) WERER 8} RU T 9 W & (D) 9RRER & HHIHE
1209/(Set : B)
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Which of the following items is not recorded in the Profit and Loss Appropriation
Account ?
(A) Partner's salary (B) Interest on Drawing

(C) Interest on Partner's Loan (D) Partner's commission

5. TN €99 ... SICECICE RIS 5| 1
Capital Reserve is created out of ............ profit.
6. U T FEAl : FRFYT (A) TN FRT (R) % IR TR Fel (e &l T HX - 1

AR (A) : “HERR B G A R TR Gl @d H RIRG #X AT S 817

HROT (R) : “HEGERK B I O form ™ For e 9 P KT B w9 § A AW o g,
I 30 @Y TRER § T TR & w9 AE1 o g1

oy :

(A)  ARmEE (A) R FROT (R) AMT T2 & IR ®RT (R), IEH (A) H HE BRI 2

(B) AHE (A) IR BRI (R) AT Tel &, AT BROT (R), ARG (A) HT TEl HRT e 2

(C) aw ARTHET (A) el Bl

(D) SRR (A) 3R SR (R) 41 T &l

On the basis of given Statements : Assertion (A) & Reason (R), choose the

correct option :

Assertion (A) : "Loan from wife of partner is transferred to Realisation A/c."

Reason (R) : "Loan from wife of a partner is not treated as a third party loan but

it is treated like a loan from partner himself."

Option :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
reason of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the
correct reason of Assertion (A).

(C) Only Assertion (A) is correct.

(D) Both Assertion (A) and Reason (R) are incorrect.

1209/(Set : B) P.T.O.
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7. 39 % Sfq-oTREN @ oY For gHed E ? 1

What do you understand by over-subscription of shares ?

8. ‘URaaHslid Fora=’ § 1 o9 ® ? 1

What is a 'Convertible Debenture' ?

9. U TT HIA : FFHYT (A) T T (R) D ER TR F&7 [dehed &l Ia T : 1
SR (A) : “STT FEEE F T GEER ARG B 5, 99 JAEedid @Il Sl S ol
R (R) : T TRER & MM $ T T GERR & 9euld Sass &l
fohey :

(A)  AREEE (A) R FROT (R) AM1 T2 & 8K BRT (R), SIEHH (A) H HE BRI 2
(B) AHT (A) R PR (R) AT Tel &, AT BROT (R), ARG (A) HT TEl HR el 2
(C) Fad HRT (R) T 2

(D) SRR (A) 8K SR (R) &A1 T &l

On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : "Revaluation A/c is made when new partner is admitted."

Reason (R): "Consent of all partners is required for the admission of a new
partner."

Option :
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
reason of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the
correct reason of Assertion (A).

(C) Only Reason (R) is correct.
(D) Both Assertion (A) and Reason (R) are incorrect.

1209/(Set : B)



10.

11.

12.

13.

(7) 1209/(Set : B)
Rl o 3 Red & T, AR B wEER o @ AR A 3, & 50 aah @R B e
ge | foren S 1
At the time of dissolution of a firm, if a partner takes an asset of the firm, it will
be recorded in the ............ side of Realisation A/c.

e ofX Afed T aa & WEER & S ¥ & 5: 3 % oy # ded 81 3 @ § 1/7
W & fo eig @ O TC EER $ W9 WieR TG 81 T4 AW gud 4 2 0 1 8m
e SR Aifed & @R STUE & oM B 2

Rohit and Mohit are partners in a firm sharing profits in the ratio of 5 : 3. They
admit Bijoy as a new partner for 1/7 share in the profit. The new profit sharing
ratio will be 4 : 2 : 1. Calculate the sacrificing ratio of Rohit and Mohit.

T THERI ®H H GIe -l aemall # 8 Tl 5 7 2

Mention the occasions of the reconstitution of a partnership firm.

T, F0F AR AT TF BH A 5:4: 1% IFJUE J HEHER A1 31 9=, 2017 H A a9
% foe & & @9 1,00,000 T &1 30 FA, 2017 H AU B GG B Tl HA A WA
T ol & A B T ®9 G dled & M e 1 ot | 30 S, 2017 T @ SEy
% U s & AW & W H T H A0 B ORT W A AW & 39 R & [
HEER B % QT H AEL® S dafte |t H 2

Bakul, Champak and Darshan were partners in a firm sharing profits in the
ratio of 5 : 4 : 1. The profit of the firm for the year ending on March 31, 2017
was Rs.1,00,000. Champak died on June 30, 2017. Bakul and Darshan decided
to share profits equally in future. Calculate Champak's share of profit for the
period of April 1 to June 30, 2017. Also pass the necessary journal entry in the
books of partnership firm for this share of profit to Champak.

1209/(Set : B) P.T.O.
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gar
OR
AEE d0d & oHE |, e @ ddfta fFaw e 2
(i) Ui W =
(i) @ SR = BT Fear
(iii) STEYYT YR TS
(iv) UERER # 909

In the absence of partnership deed, specify the rules related to :

(i) Interest on capital
(i) Sharing of Profits and Losses
(iij) Interest on drawings

(iv) Salary to partner

14. el & AR T &g OE R & ) Frefafed sHa sfafte afa @ sl 2

Huf G|
........... q

(ot @il )

EER CIN|| T
........... q
........... q

(oo shfte W ST fo)

e M T Iqe STl Safedl &l O &
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In case of issue of debentures for consideration other than Cash, following
journal entry will be passed :

Assets A/c Dr.

(Asset purchased)

Vendor's A/c Dr.

(Debentures issued at premium)

Complete above journal entries by filling the blanks.

STeE
OR

A % BT & [T S qiafie S e Sifem I & 30 Fo F &4 W 100 Fo &l 300
S 7 BT fehdr TR Bl S TG W SR fhT T 2
Write down the journal entry for forfeiture of shares if 300 shares of Rs. 100

each have been forfeited on non-payment of Final Call of Rs. 30 per share.
Shares were issued at par.

15. ERER G § A9 1 G o 7 2
What do you understand by Partnership Deed ?

16. R STUR TT TN A U ol JoT B 3
Give a comparison of Sacrificing Ratio and Gaining Ratio.

17. EEN ¥ & fEed @ Rufa & ot & faem &1 &9 Fa) 3
State the order of settlement of accounts in case of dissolution of a partnership
firm.

1209/(Set : B) P.T.O.
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18. 3 TF FO9A § 3T SaEy 3

19.

Differentiate between Share and Debenture.

YqT
OR

Frfafad & fom s sfaftet &% : 3

(@)

(i)

(iii)

100 o ¥F W 1,00,000 Fo & 9% I THYE W FHfHG R T W
e

100 %o Y% W 1,00,000 o & 9% FOIYH THY W FFifd, Qfe 5% & Mt
T SN

100 %o &% 9 1,00,000 Fo & 9% FOUH 5% & W™ W i, 5% & e
T M|

Give Journal Entries for the following :

(@)

(i)

(1ii)

Issue of Rs. 1,00,000, 9% debentures of Rs. 100 each at par and

redeemable at par.

Issue of Rs. 1,00,000, 9% debentures of Rs. 100 each at par but repayable
at a premium of 5%.

Issue of Rs. 1,00,000, 9% debentures of Rs. 100 each at premium of 5%,
redeemable at premium of 5%.

= TR & AT B R B, B B TREE, 2013 & ded 9K RAr ST G B

3

Discuss the various types of shares, which can be issued under the Companies
Act, 2013.

1209/(Set : B)



(11) 1209/(Set : B)

20. Hied TH TS gacd $ UH AFER S 35led 3 0 S ST & [T 31 9=, 2020

21.

F TG BN a a¥ & aAXH oW Toil @ A TG Freren Fretaied Seieues Refort 7 &
A% § STETT W N Bl TN &R, ARG &l & 9 Faed gy B 3

(i) IR I TN B YEAC H HiHE 3,000 T |
(i) I IS SN TOF A€ $ Ad § 3,000 G H A M © e

(i) afE Fepen T TRC A 1 S, 2019 H 12,000 FW AR 31 FEL, 2020 FH
6,000 S93|

John Ibrahim, a partner in Modern Tours and Travels withdrew money during

the year ending March 31, 2020 from his capital account, for his personal use.
Calculate interest on drawings in each of the following alternative situations, if
rate of interest is 9 per cent per annum :

(i) If he withdrew Rs. 3,000 per month at the beginning of the month.

(ii)) If an amount of Rs. 3,000 was withdrawn by him at the end of each month.

(iii) If the amounts withdrawn were : Rs. 12,000 on June 01,2019 and Rs. 6,000
on January 31, 2020.

g H U 9EER & Y699 & RAafd § S & d@ied @ A Ok @ arer #1005

Explain various methods for the treatment of goodwill in case of the admission

of a new partner specifying the required journal entries.

YqT
OR

T @ AR A @ g i & W R, S 31.12.2016 @ GEER HGEd Tl @ & T
AR A 2: 1% AU H AW A B AR FA

1209/(Set : B) P.T.O.
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g -9 31 W, 2016
Kl N () ot TR (3)
9 o 10,000 | B&RY TH 10,000
KREARS 58,000 | 5% ¥ g 40,000
THET T 2,000 | fafqe ER 60,000
ot - I 40,000
‘T 1,80,000
" 1,50,000 3,30,000
G 1,00,000
A 1,50,000
4,00,000 4,00,000

G ® J949 e # ahE W} e o ) 06 9eER & ' ¥ @i 6 @ R o

() @ amH 1/4 9 F fow oo it & & F 1,00,000 Fo AR @Y & T e
% @7 ¥ 60,000 Ho T

(i) I F T 1,20,000 Fo T TGN ST & AR FT H Gd 10% ToM@1 ST &l

(iii) &fH ® g 4,000 TG | AfH IR T4
(iv) IER B 5% W AMeF A d@iwy Tl $ oW Mae= 9@ S 2
(v) 1,000 T9F & W& & Rbie wel o

g @, FEER & Yot @ ofR B & S5 die TUr &

5

Given below is the Balance Sheet of 'A' and 'B', who are carrying on partnership

business on 31.12.2016. 'A' and 'B' share profits and losses in the ratioof 2 : 1 :

1209/(Set : B)
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Balance Sheet as at March 31, 2016

Liabilities Amount (Rs.) Assets Amount (Rs.)
Bills Payable 10,000 | Cash in Hand 10,000
Creditors 58,000 | Cash at Bank 40,000
Outstanding Expenses 2,000 | Sundry Debtors 60,000
Capitals : Stock 40,000
'A'"  1,80,000
'B' 1,50,000 3,30,000
Plant 1,00,000
Buildings 1,50,000
4,00,000 4,00,000

'C' is admitted as a partner on the date of the balance sheet on the following
terms :

(i) 'C' will bring in Rs. 1,00,000 as his capital and Rs. 60,000 as his share of
goodwill for 1/4 share in the profits.

(ii)) Plant is to be appreciated to Rs. 1,20,000 and the value of buildings is to be
appreciated by 10%.

(iii) Stock is found over valued by Rs. 4,000.
(iv) A provision for bad and doubtful debts is to be created at 5% of debtors.
(v) Creditors were unrecorded to the extent of Rs. 1,000.

Prepare the Revaluation Account, Partners' Capital Accounts and the Balance
Sheet of firm.

22. 1 a4, 2015 & ‘Tew’ ffes & MEs® 7 10 93 & 50,000 R X 12 9T i
PN W TN U F 36 TR & 9 ¢

AMaed W 5 599 (2 v HiftRH 4fed),
e W 4 599, R
1 H2, 2015 & Hid W AT R

1209/(Set : B) P.T.O.



(14) 1209/(Set : B)
gl 10 wRaEd, 2015 # @8 & & T, W a@ 7% 70,000 TR F [ AT @
B A o THE A § 40,000 F 99 R RU T AR 60,000 FUY AT W 3 AR
W T T, e 0 G 16 HLEd, 2015 H 61

500 A & T H Blgh Gl YIRS 7 1 ¥8, 2015 HI G Hid H A B &
39 500 P F 29 G, 2015 &H F«I HT 0@ TN AR 1 TG, 2015 & 8 T i
PR R QO GO & &9 H 6§ 0 fBrar m@m

FUA, AT & e, BiA-3T-TRIX G T @ 8|
‘w’ fafies @ gwret § 39 X TSN e @ R B & fon o sfaftedt # 5
On January 1, 2015, the Director of 'X' Ltd. issued for public subscription

50,000 equity shares of Rs. 10 each at Rs. 12 per share. These were payable as :

Rs. 5 on application (including premium of Rs. 2),

Rs. 4 on allotment, and

The balance on call on May 1, 2015.

The lists were closed on February 10, 2015 by which date applications for
70,000 shares were received. Of the cash received Rs. 40,000 was returned and
Rs. 60,000 was applied to the amount due on allotment, the balance of which
was paid on February 16, 2015.

All the shareholders paid the call due on May 1, 2015 with the exception of an
allottee of 500 shares. These 500 shares were forfeited on September 29, 2015
and reissued as fully paid at Rs. 8 per share on November 1, 2015.

The company, as a matter of policy, does not maintain a calls-in-arrears

account.

Give journal entries to record these share capital transactions in the books of 'X'
Ltd.

1209/(Set : B)
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7T

OR
(a) ?a@aﬁwmﬁwmﬁémmmaﬁmewﬂvwm
| 3

Describe the purposes for which a company can use the amount of
Securities Premium.

(b) I Wl B W T F 7 b T8 P15 FTN e W I T HT Tl o 2

State clearly the conditions under which a company can issue shares at a
discount.

A - §
PART - B [M. M. : 15

( forfar foa=ent & fasqwen)
(Analysis of Financial Statements)

23. foxiE faater TR &0 & #5 & 35 e 1

Write the two objectives of preparing Financial Statements.

24. U W FA : FVBYT (A) TN FXT (R) T IR W F&7 (95T B q97 &Y 1

AR (A) : TN STU H TI9 T9T A9 I8 2 % ¥ favel SR (Fwd Reme) & g
qﬁ%’-ln

PR (R) : “IY UG 1 @R O & 1 | oM B W =y/@Ra gadl AR =g

IR@El F TR B D I GAN ST FHAT ol JACY, TEH SR & 8-
fopar <1 w217

R -

(A) ST (A) R BRI (R) A1 T2 & X & (R), SIHAT (A) 1 HEl BT 2l
(B) SR (A) R PR (R) AT T& &, AfBT PR (R), ARH (A) BT T& HRO 7TEf B
(C) Fad HR (R) el 2

(D) ST (A) 8K ®RYT (R) &4 T &

1209/(Set : B) P.T.O.



(16) 1209/(Set : B)

On the basis of given statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : "The biggest drawback of Liquidity ratios is that these are open
to Window Dressing."

Reason (R) : "Current Ratio or Quick Ratio of more than 1 can be improved by
equal decrease in current/quick assets and current liabilities.
Therefore, it can easily be manipulated."
Option :
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
reason of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the
correct reason of Assertion (A).

(C) Only Reason (R) is correct.

(D) Both Assertion (A) and Reason (R) are incorrect .

25. & W Io9 Sfie S0 g Frefifed § @ - 9e Carg el Sive & sfdna 78t
R & ? 1
(A) @MUR AN
(B) 9 =Y A
() i # e ()
(D) Gy e
Which of the following item does not appear under the head "Current Liabilities"
while making a Company's Balance Sheet ?

(A) Trade Payables
(B) Other Current Liabilities
(C) Deferred Tax Liabilities (Net)

(D) Short Term Provisions

1209/(Set : B)



26.

27.

28.

(17) 1209/(Set : B)
& A AU B T B B G o 2l ]

The formula to calculate Net Profit Ratio is ........... .

“ORETR TiaiE 8 Rl ®l O A GHF i § | e g o H Sfer S
TMey ? 1
A) T R ) A (B) = wREaREr § gfs
(C) TR @ fepht oX & (D) aHM el ® HH

Which of the following should be added to Net Profit while calculating "Cash

from Operating Activities" ?
(A) Gain on sale of machinery (B) Increase in current assets

(C) Loss on sale of furniture (D) Decrease in current liabilities

Briefly explain any two limitations of Financial Statements. 2

fercita om0t el & diell il Gaw § HHeE

29. frfaiad q&l @1 fRga ao & - 3

(i) el gl

(i) AT W oW (Ffwa)

(iii) ROT HAT AU

Describe the following terms in detail :
(i) Working Capital

(i) Return on Investment

(iii) Debt Equity Ratio

1209/(Set : B) P.T.O.



faT T fqarer | s A
() FHH THAER U, oI}

o

(i) FHH i AEd Y

1209/(Set :

B)

e RUE
e | 3T % 4,00,000
IR B % 75,000
Sife eforn % 85,000
ehal o4 fephl 1 AT T 25%

From the given detalils, find out :
(i) Inventory Turnover Ratio, and

(ii) Average Age of Inventory

Particulars Amount
Revenue from Operations 34,00,000

Opening Inventory % 75,000

Closing Inventory % 85,000

Gross Profit

25% on Cost of Revenue

1209/(Set : B)
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30. & T YEASA % AGN W FHawr el el § Febel vare Bl T Y 5
3
A (01.04.2016) 50,000
A9 (31.03.2017) 60,000
Hiee eaeE (01.04.2016) 15,000
i qe98d (31.03.2017) 25,000

q¥ & IR H WA Rt @FE 2 25,000 & iR Wi qe@E™ 15,000 o, I

213,000 ¥ <=1 41

Calculate cash flow from Investing Activities on the basis of given information :

%
Machinery (01.04.2016) 50,000
Machinery (31.03.2017) 60,000
Accumulated Depreciation (01.04.2016) 15,000
Accumulated Depreciation (31.03.2017) 25,000

During the year, a machine costing ¥ 25,000 with accumulated depreciation of

¥ 15,000 was sold for ¥ 13,000.

1209/(Set : B)
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Srgar
OR
Frfaifed wifafedl & T@ bl & @i X SERT (Bl Sfdaies iR Thdl afesiars) &
CIEESCTEE 5
@) forhar wicfafear
(i) fraer nfefafeat

Mention the major sources and applications of Cash (Cash inflows and Outflows)
from :

(i) Financing Activities

(ii)) Investing Activities

qT -9
PART - C [M. M. : 15
(FlFa qEr)
(Computerized Accounting)
23. 3 g1 d B9 Ao & wRE & ST R S § 7 1
PMT (C10/12, C8, C9, 1)
(A) M (B) foxii=
(C) Y (D) Wi

What category of functions is used in this formula ?
PMT (C10/12, C8, C9, 1)

(A) Logical (B) Financial

(C) Payment (D) Statistical

1209/(Set : B)
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24. [ HEAYRAH § Al wd g9E, qouH G B gET W & fo [ wHis @
SUAIT fohar ST B 7
(A) [Ctrl] + [BH] B) [U1 &)
(C) [BM] (D) [Ctrl]+[%&H]

25.

26.

1209/(Set : B)

1

When navigating in a workbook, which command is used to move to the

beginning of the current row ?

(A) [Ctr]] + [Home] (B) [Page Up]

(C) [Home] (D) [Ctrl]+[Backspace]
HIF-H1 B W@ @9 A & S| a1 GRS H AN H © 7
(A) TOTAL (B) ADD

(C) SUM (D) AVG

Which function automatically totals a column or row of values ?
(A) TOTAL (B) ADD

(C) SUM (D) AVG

FISHHIT B AT ©

(A) 3T & TR

(B) TRUN HIS H Go A

(C) wrdi, R anfe Hr GRRr B

(D) Sf R#fE Tad T ST & MG HE AHA

1209/(Set : B)
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The need of codification is :

(A) The Encryption of data
(B) The Generation of mnemonic code
(C) To secure the accounts, reports, etc.

(D) Easy to process data, keeping proper records
27. SERYT G NAd Hied H A FH ;M 5 7
(A) ST FaRAT HIAT, ST TEAIT (SEd) BT R ST THA BT
(B) e THs HY, 31 FaRyd X GHIRE &, SR TRl Efd e

(C) o1 HOfed ®, 37 ZaRyd HE X 3T THA HIAT

(D) ST FARYT HIAT, ST THA BT AR BN TR BT

What is the activity sequence of the basic information processing model ?
(A) Organize data, process data and collect data
(B) Collect data, organize & process data and communicate information

(C) Process data, organize data and collect data

(D) Organize data, collect data and communicate information
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28. F&dic § T (39) H BT A | TF | A ford 2

Write a short note on formatting a table in a worksheet.

29. TE I T & IO B QR aui iy 3

Briefly describe the steps for creating a Pie Chart.

AYAT
OR
I T FHITC 3
() R @9 R g
(i) @A AR
What is meant by :
(i) Wrap Text feature of Excel

(ii)) Merging of Cells

30. FYFA qEHT HFeadR H T fAvan 71 & ? 36 aW ©d del B au S 5
What are the salient features of Computerised Accounting Software ? Mention
its advantages and limitations.

AYAT

OR

Frefofed el & AR, A9d AUEGNES &U1 & FHamdl & Reie W & kY o
qpsfic TN F IO P AT R
(2) FHEAN FGEROT #, FHaM H TH, T AR JA daq A B et

(b) TEME w1 (W) I AT B 40%, WM BT HA (T AR T) T AT B 20%,
wiasg B (f 0F) 99 999 & 12%!
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(c) ¥ HA daH, H dad + ST + T AR [
(d) TR (3MSE) Fba T B 20%!
(e) & Iq7 TAF FHAR & [T [ Fha I — (AT + E)] B
AU R o B # ST S BN SR PIAM [T T e dad, Sed doH,
AR AT SR A AT N TOFT Y B 7 5

Write down the steps to create a worksheet to keep a record of employees of M/s

Opportunities Company as per the following instructions :

(a) Employee details should include : Name of Employee, Designation and
Basic Salary.

(b) Take Dearness Allowance (DA) is 40% of Basic Salary, House Rent
Allowance (HRA) as 20% of Basic Salary, Provident Fund (PF) as 12% of
Basic Salary.

(c) Gross Salary as Basic Salary + DA + HRA.

(d) The Income Tax (IT) as 20% of Gross Salary.

() Net Salary is [Gross Salary — (PF + IT)] for each employee.

How will you calculate Total Salary, Average Salary, Maximum Salary and

Minimum Salary paid by the company using various excel formulas ?
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